

Released:

January 10, 2025

CENTRAL MARKETING AREA

FEDERAL MILK ORDER NO. 32

United States Department of Agriculture

Agricultural Marketing Service Dairy Program

Tel.: (913) 495-9300 --- Fax: (913) 888-9207

email: market.administrator@fmmacentral.com website: www.fmmacentral.com

Mailing Address:

PO Box 14650 Shawnee Mission, KS 66285-4650

DECEMBER 2024 STATISTICAL UNIFORM PRICE ANNOUNCEMENT

Producer Milk	Percent	Pounds	Minimum Class Price
Class I	31.00	362,567,742	\$23.43
Class II	6.65	77,821,166	21.28
Class III	51.60	603,562,872	18.62
Class IV	10.75	125,747,191	20.74
Total Producer Milk	100.00	1,169,698,971	

Computation of Uniform Price (per cwt @ Jackson County, MO)		Component Prices		
Producer Price Differential Class III Price (@ 3.5% Butterfat) Statistical Uniform Price (@ 3.5% Butterfat) Statistical Uniform Price (@ Average Pool Component Tests)	\$1.33 <u>\$18.62</u> \$19.95 \$23.44	Butterfat Price Protein Price Other Solids Price Nonfat Solids Price SCC Adj Rate (1,000 cells)	\$2.9104 /lb 1.9637 /lb 0.4493 /lb 1.2151 /lb 0.00088	

COMPUTATION	OF PRODUCER	PRICE DIFFERENTIAL

		Product Pounds	Price per cwt / lb	Component Value	Total Value
Class I	Skim Milk	353,808,704	\$12.98	\$45,924,369.78	
	Butterfat	8,759,038	3.1141	27,276,520.24	
Less:	Location Adjustment to Handlers			538,262.59	\$73,739,152.60
Class II	Butterfat	9,416,249	2.9174	27,470,964.83	
	Nonfat Solids	6,627,846	1.2744	8,446,526.94	35,917,491.77
Class III	Butterfat	25,453,782	2.9104	74,080,687.09	
	Protein	20,822,327	1.9637	40,888,803.55	
	Other Solids	35,103,378	0.4493	15,771,947.76	130,741,438.40
Class IV	Butterfat	7,607,640	2.9104	22,141,275.45	
	Nonfat Solids	11,406,054	1.2151	13,859,496.22	36,000,771.67
Total Class	ified Value				\$276,398,854.44
Add:	Overage - All Classes				4,581.91
	Inventory Reclassification - All Classes				(57,701.30)
	Other Source Receipts	794,263			32,882.49
	Somatic Cell Adjustment - Classes II, III a	and IV			1,218,867.89
Total Pool \	V alue			_	\$277,597,485.43
Less:	Value of Producer Butterfat	51,236,709	2.9104	(149,119,317.87)	
	Value of Producer Protein	40,231,817	1.9637	(79,003,219.04)	
	Value of Producer Other Solids	67,866,199	0.4493	(30,492,283.22)	
	Value of Producer Somatic Cell	181		(1,741,352.60)	(260,356,172.73)
Total PPD \	/alue before Adjustments				\$17,241,312.70
Add:	Location Adjustment to Producers				(1,780,607.61)
	One-half Unobligated Balance - Produce	r Settlement Fund			582,937.29
Less:	Producer Settlement Fund - Reserve			_	(476,082.32)
Total Poo	l Milk (w/URSP) & PPD Value	1,170,493,234			\$15,567,560.06
	Producer Price Differential		\$1.33		
	Statistical Uniform Price		\$19.95		

CENTRAL MARKETING AREA FEDERAL MILK ORDER NO. 32

Payment Schedule

Payment Dates for the Month of:

DECEMBER 2024

Payments TO the Producer Settlement Fund DUE by:

January 14, 2025

Payments FROM the Producer Settlement Fund DUE by:

January 15, 2025

Final payments TO a Cooperative Association must be RECEIVED by:

January 16, 2025

Final payments TO Producers must be RECEIVED by:

January 17, 2025

Average test of producer receipts:

Producer Price Differential and Statistical Uniform Price, by Zone Differential

_	Zone Differential ^{1/}	Adjustment	Producer Price Differential	Statistical 2/ Uniform Price
_		dollars per hu	ndredweight	
As Announced:	2.00	0.00	1.33	19.95
Other Zones:	1.75	(0.25)	1.08	19.70
	2.10	0.10	1.43	20.05
	2.20	0.20	1.53	20.15
	2.45	0.45	1.78	20.40

^{1/} Differentials listed apply to zones included in the Central Marketing Area. Outside of this area, differentials may be above or below this range. Differentials apply on a county basis.

Est Class I Percentages

Producer Milk Received by Component Pounds

	<u>Skim</u>	<u>Butterfat</u>	<u>Protein</u>	Other Solids	Nonfat Solids
Producer Milk Receipts			Pounds		
Class I	353,808,704	8,759,038	12,695,801	21,442,610	34,138,411
Class II	68,404,917	9,416,249	2,477,982	4,149,864	6,627,846
Class III	578,109,090	25,453,782	20,822,327	35,103,378	55,925,705
Class IV	118,139,551	7,607,640	4,235,707	7,170,347	11,406,054
Total Producer Milk	1,118,462,262	51,236,709	40,231,817	67,866,199	108,098,016

Selected Pool Statistics

Lat Class I I ercertages		Average lest of producer receip	λo.	
Skim	29.00 %	Butterfat	4.38	%
Butterfat	15.00 %	Protein	3.44	%
		Other Solids	5.80	%
		SCC	181	

Administrative Assessment and Marketing Service Deduction

§ 1000.85 - Assessment for order administration \$0.000 per hundredweight

§ 1000.86 - Deduction for marketing services \$0.050 per hundredweight

^{2/} Prices at 3.5 percent butterfat, 2.99 percent protein, and 5.69 percent other solids.

UNITED STATES DEPARTMENT OF AGRICULTURE

AGRICULTURAL MARKETING SERVICE, DAIRY PROGRAM

Central Order - Federal Order No. 32 Pool Handler Listing

December 2024

Plant Name	City, State	County	FIPS Code	Loc. Adj. 1/
Pool Distributing Plants - Sec. 1032.7 (a) or (b) or (d)				
Anderson-Erickson Dairy Co	Des Moines, IA	Polk	19153	(\$0.20)
Aurora Organic Dairy	Platteville, CO	Weld	08123	\$0.45
Braum, W.H., Inc	Tuttle, OK	Grady	40051	\$0.60
Central Dairy Co	Jefferson City, MO	Cole	29051	\$0.00
Dean Dairy	Le Mars, IA	Plymouth	19149	(\$0.25)
East Side Jersey	O Fallon, IL	St Clair	17163	\$0.00
East Side Jersey	Sioux Falls, SD	Minnehaha	46099	(\$0.30)
Farmers' All Natural Creamery	Wellman, IA	Washington	19183	(\$0.20)
Hiland Dairy Foods Co, LLC	Chandler, OK	Lincoln	40081	\$0.60
Hiland Dairy Foods Co, LLC	Kansas City, MO	Jackson	29095	\$0.00
Hiland Dairy Foods Co, LLC	Norman, OK	Cleveland	40027	\$0.60
Hiland Dairy Foods Co, LLC	Omaha, NE	Douglas	31055	(\$0.15)
Hiland Dairy Foods Co, LLC	Wichita, KS	Sedgwick	20173	\$0.20
Jackson Dairy	Hutchinson, KS	Reno	20155	\$0.20
Kroger Mountain View Foods	Denver, CO	Denver	08031	\$0.55
Meadow Gold	Englewood, CO	Arapahoe	08005	\$0.55
Prairie Farms Dairy Inc	Carlinville, IL	Macoupin	17117	\$0.00
Prairie Farms Dairy Inc	Dubuque, IA	Dubuque	19061	(\$0.25)
Prairie Farms Dairy Inc	Granite City, IL	Madison	17119	\$0.00
Prairie Farms Dairy Inc	Olney, IL	Richland	17159	\$0.00
Royal Crest Dairy, Inc	Longmont, CO	Boulder	08013	\$0.45
Safeway Stores, Inc	Denver, CO	Denver	08031	\$0.55
Sinton Dairy Foods Co, LLC	Colorado Springs, CO	El Paso	08041	\$0.55
Pool Supply Plants - Sec. 1032.7 (c)				
Associated Milk Producers Inc	Freeman, SD	Hutchinson	46067	(\$0.25)
Associated Milk Producers Inc	Sanborn, IA	O Brien	19141	(\$0.25)
Dairy Farmers Of America Inc	Independence, IA	Buchanan	19019	(\$0.25)
Foremost Farms USA	Lancaster, WI	Grant	55043	(\$0.25)
Independent Dairy Producers	Boise City, OK	Cimarron	40025	\$0.40
Kalona Farms	Kalona, IA	Washington	19183	(\$0.20)
Prairie Farms Dairy Inc	Luana, IA	Clayton	19043	(\$0.25)

Edwardsville, IL

Monroe, WI

Artesia, NM

Ferndale, CA

City, State

FIPS Code

County

Loc. Adj. 1/

Plant Name

Prairie Farms Dairy, Inc

Select Milk Producers, Inc.

Rolling Hills Dairy Producers Cooperative

Western Organic Family Farms Cooperative